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Ausu er anr f ive questions
AII questio.r.l::', equat marks

Detern'iine whether the fbllorvine s1,51s111s tlrc: N{entoryless. Stablc. Causal. I_inear"
Tittrc-itrr ulilrnt.
it5ilt)=n\r|i r

ii) 1 11;= g*iI
Fincl tlrc l'esp()itsc o1'thc s)/stcnl litr thc inltirt siunirl
x(n) = { I.2.2.i} ancl h(n1 = { 1.0.-i.2} l8+71
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-1.a) Design a digital f ilrer Lrsir.rc H (.t) =

bl Def ine Z-Tr-ansl'orr.r-r:rncl I-rst ctLrt its
.!r+95'+l8

propertic-s.

vvith -l-= 0.2 sec.

-i L)ctct'tttttter thc svstcnr lirnction H(z) ol'tlrc- f hcbrslrcr's lou prrss tlrgitll
lilllor,iitlu specilicniirlns rrsin.g brlil.'lrr tnrrrsf'ornrlrliorr (lrssrrrlc"l'= I scc)
a,, : I clts ripplc in ihc pa\s bititd 0.i-(,).:- ().r r
o = l5 clB ripPlc in titc stop band 0.Jn <t,r.-- r

! 0+-5l

f iltcl w'ith thc
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)
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t-lsillg littcltr cclrtvolutiun I'incl ,\,(lt)= x(n)'r'h(n) lor thc scc;rrcltcc\ x(ni= (1.2.-l
-i,- l.l.l ,2.- I ) arlcl It(tt t = ( I .1) (-'r)nrPlrc tlre rcsuit b1, solr'ing thr: 1-rroblcnt irsins
a) Ol'e r'-la1l sa\/e lrethod ancl b) Overlap acltl ntcthocl.

Describe the decirration jn tirne IDIT] raclir-2 FIrT algorithm to clerenripe
DF'T
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b)
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[)esign arl [-lR Drcitlri l-otr pltss lrltcr Lrsin! r.ee tlrnsul:u-ri intlou r.r,hosc e Lrt

2 r'ad/s and lenstlr ol'u,iniiou, N=9.
Dct'ir.' llte ttrtlrlilirrrts Irr lrt ltir'r c [.irre rir Plrl,'.' t l)lrllrr'it'r'i:li.: t,l FIR lilte r''

Inrplerlent the clecirlrrtion in tirne IrF-f ulgorithnr rol N= l(r.
Explarn in cletaiI lrboLrt interpolation rrncl tlecintation.

Discirss in detailthe errors resr-r lting ll-onr rouncling ancl trLrncati,rn.
I1'r(n) cienotes a tinite length seqLrence o1'lensth N. show, that r((-n))N -x((N
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